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Severe headache circumscribing whole head is called...
A. Suda Shageeqga

B Suda Baiza wa khooza

C. SudaUsaba
D

Suda Safravi

Options:

44925664921 A
44925664922 B
44925664923, C
44925664924 D
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Severe headache circumscribing whole head is called. ..
A. Suda Shageega

B Suda Baiza wa khooza

C. SudaUsaba
D

Suda Safravi

Options:
449256604921, A
449256645922 B



44325664923, C
445925664924, D
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In which disease patient walks in a haphazard way?

A Subara

B Mania

C. Kaboos

D Qutrub
Options:

44925664925, A
44325664326, B
44325664927, C
44325664925, D
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In which disease patient walks in a haphazard way?
A, Subara
B Mania
C. Kaboos
D Qutrub
Options:

443925664925, A
445925664926 B
44925664927, C
44325664328, D
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"Intisab-un-Nafas"is used for which disease?

A Asthma

B Pneumonia

C. Pleurisy

D Pulmonary Tuberculosis

Options:
44925664929, A
44925664920 B



44325664931, C
44525664932, D
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"Intisab-un-Nafas"is used for which disease?

A. Asthma

B Pneumonia

C. Pleurisy

D Pulmonary Tuberculosis

Options:

44925664929 A
4492568649320 B
44925664921, C
44925664932, D
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Clinical Feature of "Fasad-e-Shahwat"is..
A Decreased appetite

B Loss of Appetite

C.  Desire to eat sweet things

D Desire to eat Bad things

Options:

44925664932 A
44925664934 B
449256649335 C
44925664936 D
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WS Ses A
La )8 S B
Sl S S Susi i C
s S S Sonexr D

Clinical Feature of "Fasad-e-Shahwat"is..
A. Decreased appetite

B Loss of Appetite

C.  Desire to eat sweet things

D Desire to eat Bad things

Options:
44925664933, A



44325664924, B
445925664935, C
445925664936, D
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In which disease stool is associated with fat or oil like substance?

Hepatitis
B. Pancreatitis
C. Cholecystitis
D.  Gartritis
Options:

44325664937, A
44925664925, B
445925664935, C
443256643940, D

Question Number : 5 Question Id : 44925616483 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



& gam g Sils 0 5 ilan Sl paa 5o 30 S
Teh J3a

WSays A
ol gk ans B
e res C
amaa)s D

In which disease stool is associated with fat or oll like substance?
A. Hepatitis

B Pancreatitis
C. Cholecystitis
D Gartritis

Options:

44925664937 A
44925664928 B
449256864929, C
44925664940, D

Question Number : 6 Question Id : 44925616484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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According to whom, for Renal stones “Fa'ali Sabab is heat and Maddi Sabab is Thick
Viscid Fluid"?

A. MNajeebuddin Samargandi

B Shaikh Bu Al Sina
C. Jalincos
D Bugrat

Options:

44925664941, A



44325664942 B
445925664943, C
445925664944, D

Question Number : 6 Question Id : 44925616484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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According to whom, for Renal stones “Fa'ali Sabab is heat and Maddi Sabab is Thick
Viscid Fluid"?

A. MNajeebuddin Samarqgandi

B Shaikh Bu Al Sina
e Jalinoos
D Bugrat

Options:

44825664941, A
44325664942 B
445925664943, C
445925664944, D
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Treatment of which disease is NOT Similar to" Baul Fil Farash"?
A Salasul Baul

B. Taqgteerul Baul
C. Usrul Baul
D.

Istirkhae- Masana

Options:
449256864945 4

44325664946, B
44925664947, C
44525664948, D
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Treatment of which disease is NOT Similar to" Baul Fil Farash"?
A.  Salasul Baul

B Tagteerul Baul
C. Usrul Baul
D

Istirkhae- Masana

Options:
44925664345 A



44325664946, B
445925664947, C
445925664945, D

Question Number : 8 Question Id : 44925616486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Absolute Inability to perform sexual act is called...
A. Agoona

B Ananiyat

C. Farismoos

D Azyoot

Options:

44925664349 A
449256649350 B
449256864951, C
44925664952, D

Question Number : 8 Question Id : 44925616486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
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Absolute Inability to perform sexual act is called...
A Agoona

B Ananiyat

C. Farismoos

D Azyoot

Options:

44925664949, A
44925664950, B
44925664951, C
44925664952, D

Question Number : 9 Question Id : 44925616487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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The sequence of treatment in Zof-e- Bah is:
A. Tahreek-Tagviyat- Taskeen
B Tagviyat-Taskeen-Tahreek
C. Taskeen- Taqgviyat- Tahreek
D

Taskeen- Tahreek- Taqgviyat

Options:
44925664953 A



44325664954, B
4459256643955, C
445925664956, D
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The sequence of treatment in Zof-e- Bah is:
A. Tahreek-Tagviyat- Taskeen
B Tagviyat-Taskeen-Tahreek
C.  Taskeen- Taqgviyat- Tahreek
D

Taskeen- Tahreek- Tagviyat

Options:

44925664953 A
449256549354 B
44925864955 C
44925664956, D

Question Number : 10 Question Id : 44925616488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is the composition of Shatarul Ghib?
A. Humma Ghib with Lisga

B Humma Ghib Lazima with Lisga

s Humma Ghib with Muwaziba
D

Humma Ghib Lazima with Muwaziba

Options:

44925664957, A
44925664958, B
44925664959, C
44925664960, D

Question Number : 10 Question Id : 44925616488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following is the composition of Shatarul Ghib?
A. Humma Ghib with Lisga

B Humma Ghib Lazima with Lisga

G Humma Ghib with Muwaziba
D

Humma Ghib Lazima with Muwaziba

Options:
44925664957 A



44325664955, B
445925664959, C
44525664950, D

Question Number : 11 Question Id : 44925616489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In which of the fever Spleen is affected?
A Humma Ghib
B Humma Lisqga
C. Humma Muwaziba
D

Humma Ruba'a

Options:

44925664361 A
449256649362 B
44925664953, C
44925664964, D

Question Number : 11 Question Id : 44925616489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In which of the fever Spleen is affected?
A Humma Ghib
B Humma Lisqga
C. Humma Muwaziba
D

Humma Ruba'a

Options:
44925664961 4

44325664962, B
44925664963, C
44525664964, D

Question Number : 12 Question Id : 44925616490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Which of the following is beneficial medicine for Istisga?
A Dawaul Kurkum

B Dawaul Misk Motadil

C.  Sharbat Faryadras
D

Sharbat Neelofar

Options:
44925664365 A



44325664966, B
44925664967, C
44525664968, D

Question Number : 12 Question Id : 44925616490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Which of the following is beneficial medicine for Istisga?
A Dawaul Kurkum

B Dawaul Misk Motadil

C.  Sharbat Faryadras
D

Sharbat Neelofar

Options:

44925664365 A
449256649366, B
44925864987, C
44925664968, D
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Which symptom remains dominant in warm-e-Jigar Mohaddab®?
A Hiccup

B Vomiting

C.  Loss of Appetite

D

Shortness of breath

Options:
44925664969 4

44325664970, B
44925664971, C
445925664972, D

Question Number : 13 Question Id : 44925616491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which symptom remains dominant in warm-e-Jigar Mohaddab®?
A. Hiccup

B Vomiting

C.  Loss of Appetite

D

Shortness of breath

Options:
44925664369 A



44325664970, B
445925664971, C
445925664972, D

Question Number : 14 Question Id : 44925616492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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VWhat is the actual cause of disease Kaboos?
A Fasad-e-Khayal

B Fasad-e-Hazm

C. Asaab kaTaa'sur
D

Sarsam

Options:

44925664973, A
44925664974, B
44925664975, C
44925664976, D

Question Number : 14 Question Id : 44925616492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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What is the actual cause of disease Kaboos?
A Fasad-e-Khayal

B Fasad-e-Hazm

C. Asaab kaTaa'sur
D

Sarsam

Options:

44925664973 A
449256649374 B
44925664975 C
44925664976, D

Question Number : 15 Question Id : 44925616493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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For the disease Nigris, which is in-correct?
A. Affects mostly the rich people

B Affects the joints of finger

C. Affects the bigger joints of the body
D

Causative matter belongs to Uric Acid

Options:



44325664977, A
4459256649758, B
449256649759, C
44325664350, D

Question Number : 15 Question Id : 44925616493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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For the disease Nigris, which is in-correct?
A. Affects mostly the rich people

B Affects the joints of finger

C. Affects the bigger joints of the body
D

Causative matter belongs to Uric Acid

Options:
44925664977, A

44325664975, B
4459256649759, C
44525664950, D

Question Number : 16 Question Id : 44925616494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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"One or few rashes with burning sensation and mild inflammation” is the symptoms of
which disease?

A Erysipelas

B Herpes

C. Eczema

D Carbuncle
Options:

443925664951, A
445925664982 B
44925664983, C
44325664354, D

Question Number : 16 Question Id : 44925616494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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"One or few rashes with burning sensation and mild inflammation” is the symptoms of
which disease?

A Erysipelas

B Herpes

C. Eczema

D Carbuncle
Options:

443925664951, A
445925664982 B
44925664983, C
44325664354, D

Question Number : 17 Question Id : 44925616495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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"Alkhajeel " is used as synonym of which disease?
A Gonorrhoea

B Impotence
C.  Syphilis
D

Premature ejaculation

Options:

44925664955, A
44925664986, B
44925664987, C
44925664988, D

Question Number : 17 Question Id : 44925616495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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"Alkhajeel " is used as synonym of which disease?
A.  Gonorrhoea

B Impotence
C.  Syphilis
D

Premature ejaculation

Options:
449256649385 A



44325664956, B
445925664987, C
445256649588, D
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Which of the following is NOT the finding of the urine of a pregnant woman"?
A Aab-e- Nakhood like colour

B Cloud like froth

C. In the middle Qutn-e-Manfoosh like precipitate

D

"Ghee" like smell

Options:

44925664959, A
44925664990, B
44925664991, C
44925664992, D

Question Number : 18 Question Id : 44925616496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following is NOT the finding of the urine of a pregnant woman?
A Aab-e- Nakhood like colour

B Cloud like froth

C. In the middle Qutn-e-Manfoosh like precipitate

D "Ghee" like smell

Options:

44925664959 A
449256649330, B
44925664991, C
44925664992, D

Question Number : 19 Question Id : 44925616497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
¢ = 58 S Tall p-wave o<ECG
A. Normal
B. Sign of Ischaemia
C. Right atrial enlargement
D. Left atrial enlargement

Tall P-wave in ECG denotes..
A. Normal

B Sign of lschaemia

C. Right atrial enlargement
D

Left atrial enlargement

Options:
4492566049593, A



443256649394, B
445925664985, C
44525664956, D

Question Number : 19 Question Id : 44925616497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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¢ =S8 sl Tall p-wave u<ECG
A. Normal

B. Sign of Ischaemia

C. Right atrial enlargement

D. Left atrial enlargement

Tall P-wave in ECG denotes..
A Normal

B Sign of lschaemia

C.  Right atrial enlargement
D

Left atrial enlargement

Options:

449256649393 A
449256549394 B
449256864995, C
44925664996, D

Question Number : 20 Question Id : 44925616498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
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A. Rheumatic arthritis

B. Rheumatoid arthritis

C. Osteoarthritis

D. Gouty arthritis

Migratory polyarthritis is the feature of.
A Rheumatic arthritis

B Rheumatoid arthritis

C. Osteoarthritis

D Gouty arthritis

Options:
449256864997 4

443256649395, B
44925664999, C
44525665000, D

Question Number : 20 Question Id : 44925616498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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A. Rheumatic arthritis

B. Rheumatoid arthritis

C. Osteoarthritis

D. Gouty arthritis

Migratory polyarthritis is the feature of..
A Rheumatic arthritis

B Rheumatoid arthritis

C. Osteoarthritis

D Gouty arthritis

Options:
449256649397 A



443256649395, B
445925664955, C
44525665000, D

Question Number : 21 Question Id : 44925616499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Tricuspid stenosis A

Mitral stenosis B.
Encocarditis C
Myocarditis D,

Haemoptysis may be found in..
A Tricuspid stenosis

B Mitral stenosis

C.  Endocarditis

D Myocarditis

Options:

44925665001, A
44925665002 B
44925865003, C
44925665004, D

Question Number : 21 Question Id : 44925616499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
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Tricuspid stenosis A,

Mitral stenosis B.
Encocarditis C
Myocarditis D.

Haemoptysis may be found in..
A Tricuspid stenosis

B Mitral stenosis

C. Endocarditis

D Myocarditis

Options:

44925665001, A
44925665002, B
44925665003, C
44925665004, D
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Woods lamp in used in the examination of:
A Eczema

B Psoriasis

C. Leucoderma
D

Tinea

Options:
44925665005, A
44925665006 B



44325665007, C
44525665008, D
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Woods lamp in used in the examination of:
A Eczema

B Psoriasis

C. Leucoderma
D

Tinea

Options:

44925665005, A
44925665006, B
44925665007, C
44925865008, D
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Usool-e-llaj and drugs for HIKKATUL MASHAIKH may be...
A. Murattibat — Roghan Badam shirin

B Mubarridat — Roghan kadu

C.  Musakhkhinat - Roghan Bed anjeer

D Musaffiya- Chiraita

Options:

44925665009, A
44925665010, B
44925665011, C
44925665012, D

Question Number : 23 Question Id : 44925616501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Usool-e-llaj and drugs for HIKKATUL MASHAIKH may be...
A. Murattibat — Roghan Badam shirin

B Mubarridat — Roghan kadu

C.  Musakhkhinat - Roghan Bed anjeer

D Musaffiya- Chiraita

Options:
44925665009, A



44325665010, B
445925665011, C
44525665012, D

Question Number : 24 Question Id : 44925616502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Name the organ where the sinusoids are present:

A. Brain

B. Liver

C. Heart

D.  Skin
Options

44925665013, A
44325665014 B
44325665015, C
44925665016, D

Question Number : 24 Question Id : 44925616502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Name the organ where the sinusoids are present:

A.  Brain

B. Liver

C. Heart

D.  Skin
Options:

44325665013, A
44525665014 B
445925665015, C
44325665016, D

Question Number : 25 Question Id : 44925616503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which is the first bone to ossify during foetal life?
A Clavicle

B. Sternum

C. Humerus

D. Ulna

Options:
44925665017 A
44925665015 . B



44325665013, C
44525665020, D

Question Number : 25 Question Id : 44925616503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which is the first bone to ossify during foetal life?
A. Clavicle
B. Sternum

& Humerus
D. Ulna

Options:

44925665017 A
44925665018. B
449256650193, C
44925665020, D

Question Number : 26 Question Id : 44925616504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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What is surface marking of superficial inguinal ring?

A Just above pubic tubercle
B. Midway above inguinal ligament
C. Femoral triangle
D. At level of iliac tubercle
Options:

44325665021, A
44325665022 B
443925665023, C
44525665024, D

Question Number : 26 Question Id : 44925616504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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VWhat is surface marking of superficial inguinal ring?

A. Just above pubic tubercle
B. Midway above inguinal ligament
C. Femoral triangle
D. At level of iliac tubercle
Options:

445925665021, A



44325665022 B
445925665023, C
445925665024, D

Question Number : 27 Question Id : 44925616505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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L Tibialis Posterior

O 0w

Which muscle is called as Peripheral heart?”?
A Soleus

B Gartrocnemius
C. Popliteus
D

Tibialis Posterior

Options:

44925665025 A
44925665026, B
44925865027, C
44925665028, D

Question Number : 27 Question Id : 44925616505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. Soleus

B. Gartrochemius

C. Popliteus

D. Tibialis Posterior

Which muscle is called as Peripheral heart?”?

A Soleus

B. Gartrochemius

C. Popliteus

D. Tibialis Posterior
Options:

44325665025, A
44325665026, B
443925665027, C
445925665028, D

Question Number : 28 Question Id : 44925616506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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What is the Shape of epiglottic cartilage?
A Leaf like

B Ring like

C.  Triangular

D Square shaped

Options:
44925665029, A



44325665030, B
44525665031, C
44525665032, D

Question Number : 28 Question Id : 44925616506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

What is the Shape of epiglottic cartilage?
A Leaf like

B Ring like

C.  Triangular

D Square shaped

Options:

44925665029, A
44925665030 B
44925865021, C
44925665022, D

Question Number : 29 Question Id : 44925616507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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AmaleTarseeb is. ..
A Fermentation
B Sublimation

C. Sedimentation
D

Crystallization

Options:
44925685033 4

44325665024, B
443925665035, C
44525665036, D

Question Number : 29 Question Id : 44925616507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= e S e
o .!-:L.. ﬁ A
= }‘. ne B
SHES
Ol O
Gl e £ p

AmaleTarseeb is...
A Fermentation
B Sublimation

C. Sedimentation
D

Crystallization

Options:
44925665033, A



44325665024, B
445925665035, C
44525665036, D

Question Number : 30 Question Id : 44925616508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ratio of drug and Water in Arg Should be..

A. 1:4

B 1.8

C. 1:42

D 1:16
Options:

445925665037, A
44325665028, B
44325665039, C
44825665040, D

Question Number : 30 Question Id : 44925616508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ratio of drug and Water in Arg Should be..

A 1:4

B. 1:8

C. 1142

D. 1:16
Options:

44325665037, A
44325665025, B
443925665039, C
44525665040, D

Question Number : 31 Question Id : 44925616509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Jauhar-e-Raskapoor is obtained by..
A. Amal-e-Tareeq
B Amal-e-Taseed
C. Amal-e-Tagleem
D

Amal-e-Taghseel

Options:
44925665041, A



44325665042 B
445925665043, C
44525665044, D

Question Number : 31 Question Id : 44925616509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Jauhar-e-Raskapoor is obtained by..
A. Amal-e-Tareeq
B Amal-e-Taseed
C Amal-e-Tagleem
D

Amal-e-Taghseel

Options:

44925665041, A
44925665042 B
44925865043, C
44925665044, D

Question Number : 32 Question Id : 44925616510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Chaksu is boiled in ... .... in order to detoxify it.

A Sirka

B Arg Badiyan

C. Arg Mako

D Arg Lemoo

Options:

44325665045, A
44325665046, B
443925665047, C
44525665048, D

Question Number : 32 Question Id : 44925616510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Chaksu is boiled in ... .... in order to detoxify it.

A.  Sirka

B Arg Badiyan

C. Arg Mako

D Arg Lemoo

Options:

445925665045, A



44325665046, B
445925665047, C
445256650458, D

Question Number : 33 Question Id : 44925616511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Scopolamine's action is...
A. Anti-pyretic

B Anti-emetic
C. Analgesic
D

Anti-inflammatory

Options:

449256650493, A
44925665050 B
44925865051, C
44925665052, D

Question Number : 33 Question Id : 44925616511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Scopolamine's action is...
A Anti-pyretic

B Anti-emetic
C. Analgesic
D

Anti-inflammatory

Options:
44925685049 4

44325665050 B
443925665051, C
44525665052, D

Question Number : 34 Question Id : 44925616512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. Ipomea turpethum
B. Quericus incana
C. Quericus infectoria
D. Symplocos racemosa

What is botanical name of Jafte Baloot?
A |pomea turpethum

B Quericus incana

C.  Quericus infectoria
D

Symplocos racemosa

Options:



44325665053, A
445925665054, B
445925665055, C
44325665056, D

Question Number : 34 Question Id : 44925616512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Ipomea turpethum

B. Quericus incana

C. Quericus infectoria
D. Symplocos racemosa

What is botanical name of Jafte Baloot?
A. |pomea turpethum

B Quericus incana

C.  Quericus infectoria
D

Symplocos racemosa

Options:

44925665052, A
44925665054 B
44925665055, C
44925665056, D

Question Number : 35 Question Id : 44925616513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following is a vernacular name of Jadwar Khatai?
A Mahe-rubiyaan

B Mahe-parveen

C. Mahe-moorad

D Mahe-rajab

Options:
44925685057 4

44325665058, B
443925665059, C
44525665060, D

Question Number : 35 Question Id : 44925616513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is a vernacular name of Jadwar Khatai?
A. Mahe-rubiyaan

B Mahe-parveen

G Mahe-moorad

D Mahe-rajab

Options:
44925665057 A



44325665058, B
445925665059, C
44525665060, D

Question Number : 36 Question Id : 44925616514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Main action of Juntivana drug is:
A Musakkin

B Haemostatic

C. Tiryag Sumoom
D

Mufarreh

Options:

44925665081, A
44925665062 B
44925865083, C
44925665064, D

Question Number : 36 Question Id : 44925616514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Main action of Juntiyana drug is:
A Musakkin

B Haemostatic

C. Tiryag Sumoom
D

Mufarreh

Options:
44925685081 4

44325665062, B
443925665063, C
44525665064, D

Question Number : 37 Question Id : 44925616515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following drug is Mushil Sauda®
A.  Turbud

B Suranjan

C. Sagmoonia
D

Gharigoon

Options:
449256650685, A



44325665066, B
445925665067, C
44525665068, D

Question Number : 37 Question Id : 44925616515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following drug is Mushil Sauda?
A, Turbud

B Suranjan

C. Sagmoonia
D

Gharigoon

Options:

449256650685, A
44925665066, B
44925885087, C
44925665068, D

Question Number : 38 Question Id : 44925616516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is an Animal origin drug?

A. Hiran Khuri

B. Shaakhe Marjan

C Ikleelul Malik

D. Shehme Hanzal
Options:

44325665069, A
44325665070, B
443925665071, C
445925665072, D

Question Number : 38 Question Id : 44925616516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is an Animal origin drug?

A Hiran Khuri

B. Shaakhe Marjan

C. Ikleelul Malik

D. Shehme Hanzal
Options:

445925665069, A



44325665070, B
445925665071, C
44525665072, D

Question Number : 39 Question Id : 44925616517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. 5

B. 7
C. 8
D. 9

How many conditions are required for experiment, as per |lbn Nafis”?

A. 2
B 7
C. 8
D 9
Options:

445925665073, A
44325665074, B
44325665075, C
44825665076, D

Question Number : 39 Question Id : 44925616517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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How many conditions are required for experiment, as per |lbn Nafis”?
A

D
B 7
C. 8
D 9

Options:
44925685073 4

44325665074 B
443925665075, C
44525665076, D

Question Number : 40 Question Id : 44925616518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Nyoscamine + Atropine
B. Scopolamine + Atropine
C.  Strychnine + Brucine
D.  Strychnine + Nicotine

Which of the following alkaloids are found in Azaraqi?
A. Nyoscamine + Atropine
B Scopolamine + Atropine
C.  Strychnine + Brucine
D

Strychnine + Nicotine

Options:
44925665077 A



44325665075, B
445925665079, C
44525665080, D

Question Number : 40 Question Id : 44925616518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. Nyoscamine + Atropine
B. Scopolamine + Atropine
C.  Strychnine + Brucine
D.  Strychnine + Nicotine

Which of the following alkaloids are found in Azaraqi?
A. Nyoscamine + Atropine
B Scopolamine + Atropine
C.  Strychnine + Brucine
D

Strychnine + Nicotine

Options:

44925665077 A
44925665075 B
44925865079, C
44925665030, D

Question Number : 41 Question Id : 44925616519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is not an ingredient of Arque Ajeeb”

A Jauhar-e- Gilo
B. Jauhar-e- Podina
C. Jauhar-e- Ajwain
D. Kafoor

Options:

44325665051, A
44325665082, B
44325665083, C
44325665084, D

Question Number : 41 Question Id : 44925616519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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VWhich of the following is not an ingredient of Arque Ajeeb?”

A Jauhar-e- Gilo
B. Jauhar-e- Podina
C. Jauhar-e- Ajwain
D. Kafoor

Options:

44925665051, A
44325665052, B
44325665083, C
44325665084, D



Question Number : 42 Question Id : 44925616520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The chief ingredient of Majoon Fanjanosh is:

A. Ajwain Khorasani

B Dhatura
C. Khabsul Hadeed
D Asrol

Options:

44925665085, A
44925665086, B
44925665037, C
44925665088, D

Question Number : 42 Question Id : 44925616520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The chief ingredient of Majoon Fanjanosh is:

A. Ajwain Khorasani

B Dhatura
C. Khabsul Hadeed
D Asrol

Options:
449256850585 4

44325665056, B
443925665087, C
44525665088, D

Question Number : 43 Question Id : 44925616521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Active ingredient of Tiryag-e-Nazla is:
A.  Tukhm-e- Khashkhash

B Post Khashkhash

C. Bazrulbanj

D Tukhm-e- Kahoo

Options:
449256650389, A



44325665030, B
44525665031, C
445256650382, D

Question Number : 43 Question Id : 44925616521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Active ingredient of Tiryag-e-Nazla is:
A Tukhm-e- Khashkhash

B Post Khashkhash

C. Bazrulbanj
D

Tukhm-e- Kahoo

Options:

449256650389, A
44925665030, B
44925865091, C
44925665092, D

Question Number : 44 Question Id : 44925616522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The term, "Basurrabasta”, is particularly used with..

A Kasni

B Kasoos

. Kasondi

D Kaknaj
Options:

44325665033, A
44325665034, B
443925665035, C
44525665056, D

Question Number : 44 Question Id : 44925616522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The term, "Basurrabasta’, is particularly used with..

A Kasni

B Kasoos

C. Kasondi

D Kaknaj
Options:

4459256650383, A



44325665034, B
4459256650385, C
445925665056, D

Question Number : 45 Question Id : 44925616523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Samm-e- Mutlaqg acts through its..
A, Kaifiyat

B Kammiyat

C.  Surat-e- Nauiya
D

Kammiyat wa Kaifiyat

Options:

44925665097 A
44925665098, B
44925665099, C
44925665100, D

Question Number : 45 Question Id : 44925616523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Samm-e- Mutlaqg acts through its..
A. Kaifiyat

B Kammiyat

C.  Surat-e- Nauiya

D Kammiyat wa Kaifiyat

Options:

44925665097 A
44925885098 B
44925665099, C
44925665100, D

Question Number : 46 Question Id : 44925616524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following does NOT cause airway narrowing in an asthma attack?
A Destruction of airway

B Mucus hyper secretion

C. Airway cedema
D.

Bronchospasm

Options:

44925665101, A
44925665102 B
44925665103, C



44325665104, D

Question Number : 46 Question Id : 44925616524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following does NOT cause airway narrowing in an asthma attack?
A, Destruction of airway

B Mucus hyper secretion

C. Airway cedema
D

Bronchospasm

Options:

44925665101, A
44925665102, B
449256651032, C
44925665104, D

Question Number : 47 Question Id : 44925616525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In which of the following disorders Jugular vein distention is most prominent?
A. Abdominal aortic aneurysm

B Heart failure

C. Myocardial infarction

D

Pneumothorax

Options:

44925665105 A
44925665106 B
44925665107, C
44925665108, D

Question Number : 47 Question Id : 44925616525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In which of the following disorders Jugular vein distention is most prominent?
A. Abdominal aortic aneurysm

B Heart failure

C. Myocardial infarction

D

Pneumothorax

Options:

44925665105 A
44925665106 B
44925665107, C
44925665108, D

Question Number : 48 Question Id : 44925616526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Liquefaction necrosis occurs in...

A Brain
B Heart
C. Liver
D Kidney

Options:



44325665109, A
44525665110 B
445925665111, C
443925665112 D

Question Number : 48 Question Id : 44925616526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Liguefaction necrosis occurs in. ..

A. Brain

B Heart

C. Liver

D Kidney
Options:

44325665109, A
44325665110 B
44825665111, C
44325665112, D

Question Number : 49 Question Id : 44925616527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Tafarrug-e-ittesal of skin is called as..

A Sahaj

B Kasar

C. Batar

D Hatak
Options:

44925665113, A
44325665114 B
443925665115, C
445925665116, D

Question Number : 49 Question Id : 44925616527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Tafarrug-e-lttesal of skin is called as..

A. Sahaj

B Kasar

C. Batar

D Hatak
Options:

445925665113, A



445325665114 B
445925665115, C
44525665116, D

Question Number : 50 Question Id : 44925616528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Splenomegaly is an example of..
A.  Amraz shakal
B Amraz majari
15 Amraz migdar
D

Amraz aciya

Options:

44925665117 A
449256651158 B
44925665119, C
44925665120, D

Question Number : 50 Question Id : 44925616528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Splenomegaly is an example of..
A Amraz shakal
B Amraz majari
C. Amraz migdar
D

Amraz aoiya

Options:
44925685117 4

443256651158 B
44925665119, C
445925665120, D

Question Number : 51 Question Id : 44925616529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Tahabbuj is an example of ...

A Warm Saudawi

B Warm Maai
. Warm Reehi
D Warm Sulb

Options:
44925665121 A



44325665122 B
445925665123, C
44525665124, D

Question Number : 51 Question Id : 44925616529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Tahabbuj is anexample of ...
A.  Warm Saudawi

B Warm Maai

C. Warm Reehi

D Warm Sulb

Options:

44925665121 A
44925665122 B
44925865123, C
44925665124, D

Question Number : 52 Question Id : 44925616530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In which disease Charcot leyden crystals are found in sputum in microscopic examination?
A.  Pneumonia

B Pulmonary tuberculosis

C.  Bronchial Asthma

D Emphysema

Options:

44925665125 A
44925665126. B
44925665127, C
44925665128. D

Question Number : 52 Question Id : 44925616530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In which disease Charcot leyden crystals are found in sputum in microscopic examination?
A Pneumonia

B Pulmonary tuberculosis

C.  Bronchial Asthma

D Emphysema



Options:

44925665125 A
44925665126 B
44925865127, C
44925665128. D

Question Number : 53 Question Id : 44925616531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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A. Meningococcal Meningitis

B. Neurocystocercosis
C. HIV
D. Rabies

Megri bodies are found in which disease?
A Meningococcal Meningitis

B MNeurocystocercosis
C. HIV
D

Rabies

Options:

44925665129, A
44925665120 B
44925665131, C
44925665132, D

Question Number : 53 Question Id : 44925616531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Meningococcal Meningitis

B. Neurocystocercosis
C. HIV
D. Rabies

MNegri bodies are found in which disease?
A Meningococcal Meningitis

B MNeurocystocercosis
C. HIV
D

Rabies

Options:
44925685129 4

44325665130, B
44925665131, C
445925665132, D

Question Number : 54 Question Id : 44925616532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following test is used for bile salt in urine?
A Rothera's Test

B Hay Test
C. Fauchet's Test
D Ehrilich Test

Options:
44925665133 A



44325665124 B
445925665135, C
445925665136, D

Question Number : 54 Question Id : 44925616532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Which of the following test is used for bile salt in urine?
A Rothera's Test

B Hay Test

C. Fauchet's Test

D Ehrilich Test

Options:

44925665133 A
44925665134 B
449256865135 C
44925665126, D

Question Number : 55 Question Id : 44925616533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ulcerative colitis is classified as which one of the following types of disease”
A. Su-e-Tarkib
B Su-e- Mizaj
C. Tafarrug-e-ltesal
D

Amraz-e-Migdar

Options:
44925685137 4

44325665135 B
443925665139, C
44525665140, D

Question Number : 55 Question Id : 44925616533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ulcerative colitis is classified as which one of the following types of disease?
A.  Su-e-Tarkib
B Su-e- Miza)
C. Tafarrug-e-ltesal
D

Amraz-e-Migdar

Options:
44925665137 A



44325665138, B
445925665139, C
44525665140, D

Question Number : 56 Question Id : 44925616534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. Vitamin A
B. VitaminD
C. \VitaminE
D. Vitamin K

Deficiency of which vitamin is not known in new born?

A. Vitamin A

B Vitamin D

G Vitamin E

D Vitamin K
Options:

449325665141, A
44325665142 B
44325665143, C
44525665144, D

Question Number : 56 Question Id : 44925616534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Vitamin A
B. VitaminD
C. \VitaminE
D. VitaminK

Deficiency of which vitamin is not known in new born?

A Vitamin A

B Vitamin D

C. Vitamin E

D Vitamin K
Options:

44925665141, A
445925665142 B
44925665143, C
44925665144, D

Question Number : 57 Question Id : 44925616535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

€ e Dy S el S (30 1S 30 S0y

Steroids A,
Proteins B.
Folypeptices E

Tyrosine derivative D.

Thyroid Hormones belong to which class of hormones?
A Steroids
B Proteins
C. Polypeptides
D

Tyrosine derivative

Options:
44925665145 A
44925665146 B



44325665147, C
44525665148, D

Question Number : 57 Question Id : 44925616535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Steroids A,
Proteins B.
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Tyrasine derivative D,

Thyroid Hormones belong to which class of hormones?
A. Steroids
B Proteins
C. Polypeptides
D

Tyrosine derivative

Options:

44925665145 A
44925665146, B
44925665147 C
44925665148, D

Question Number : 58 Question Id : 44925616536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A Person is said to be infertile when sperm count is less than...
A. 20 millions/ml
B 40 millions/ml
C. 60 millions/ml
D

80 millions/ml

Options:

44925665149, A
44925665150 B
44925665151, C
44925665152, D

Question Number : 58 Question Id : 44925616536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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. 40 millions/ml
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. 80 millions/ml

A Person is said to be infertile when sperm count is less than...
A. 20 millions/ml
B 40 millions/ml
C. 60 millions/ml
D

80 millions/ml

Options:

44925665149, A
44925665150 B
44925665151, C
44925665152, D

Question Number : 59 Question Id : 44925616537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Ula LY oxdred marrowoss ¢ o S
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D. Clavicle

Which bone does not contain the red marrow?

A Vertebrae

B. Ribs

Erd Sternum

D. Clavicle
Options:

44925665153, A
445925665154 B
443925665155, C
44925665156, D

Question Number : 59 Question Id : 44925616537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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D. Clavicle

Which bone does not contain the red marrow?

A Vertebrae
B. Ribs

C.  Sternum
D. Clavicle

Options:



44325665153, A
445925665154 B
445925665155, C
443925665156, D

Question Number : 60 Question Id : 44925616538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Activation of Vitamin D occurs in which of the following organ?

A Heart

B Kidney

C. Lung

D Skin
Options:

44325665157, A
44325665158 B
44825665159, C
44325665160, D

Question Number : 60 Question Id : 44925616538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Activation of Vitamin D occurs in which of the following organ?

A Heart

B Kidney

C. Lung

D Skin
Options:

44325665157, A
44325665155 B
443925665159, C
445925665160, D

Question Number : 61 Question Id : 44925616539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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' Tri Matter Theory' was presented by:

A. Aesculapius

B. Hippocrates

C. Razi

D. lbn Sina
Options:

445925665161, A



44325665162 B
445925665163, C
445925665164, D

Question Number : 61 Question Id : 44925616539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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' Tri Matter Theory' was presented by:

A Aesculapius

B. Hippocrates

4 Razi

D. lbn Sina
Options:

445925665161, A
44325665162 B
44325665163, C
44825665164, D

Question Number : 62 Question Id : 44925616540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Who was the first physician to discover pulmonary blood circulation’?
A. Abul Qasim Zahravi

B MNajibuddin Samargandi
C.  Ibn Khtib

D Ibn Nafis

Options:

44925665165, A
44925665166, B
44925665167, C
44925665168. D

Question Number : 62 Question Id : 44925616540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Who was the first physician to discover pulmonary blood circulation?
A.  Abul Qasim Zahravi

B MNajibuddin Samargandi
C.  Ibn Khtib

D Ibn Nafis

Options:
44925665165 A



44325665166, B
445925665167, C
445925665168, D

Question Number : 63 Question Id : 44925616541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Aqgaleem (Regions) are how many?

A. Five

B Six

. Seven

D Eight
Options:

445925665169, A
44325665170, B
44325665171, C
44825665172, D

Question Number : 63 Question Id : 44925616541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Aqgaleem (Regions) are how many?

A Five

B Six

. Seven

D Eight
Options:

44325665169, A
44325665170, B
44925665171, C
445825665172, D

Question Number : 64 Question Id : 44925616542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following organs has the most moderate temperament?
A Qalb

B Azm
C. Jild

D Shahm

Options:
44925665173 A



44325665174 B
445925665175, C
445325665176, D

Question Number : 64 Question Id : 44925616542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Which of the following organs has the most moderate temperament?
A Qalb

B Azm
C. Jild

D Shahm

Options:

44925665173 A
44925665174 B
44925865175 C
44925665176, D

Question Number : 65 Question Id : 44925616543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is inclined towards heat and dryness?
A Balgham-e Hamiz

B. Balgham-e Malih

C. Balgham-e Tafih

D.  Balgham-e Afis

Options:
449256685177 4

44325665175 B
44925665179, C
44525665180, D

Question Number : 65 Question Id : 44925616543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following is inclined towards heat and dryness?

A. Balgham-e Hamiz

B. Balgham-e Malih

C. Balgham-e Tafih

D. Balgham-e Afis
Options:

44925665177, A



44325665175 B
445925665175, C
44525665180, D

Question Number : 66 Question Id : 44925616544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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After taking Mushil drugs, water should not be taken at least for. .

A 1 hour

B 2 hours

C. 3 hours

D 4 hours
Options:

445925665181, A
44325665182 B
44325665183, C
44825665184, D

Question Number : 66 Question Id : 44925616544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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After taking Mushil drugs, water should not be taken at least for. .

A 1 hour

B 2 hours

C_ 3 hours

D 4 hours
Options:

44325665181, A
44325665182 B
44925665183, C
44525665184, D

Question Number : 67 Question Id : 44925616545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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According to Bugrat, how many times should Qai be induced in a month for Hifze Sehat?
A. Once

B Twice
C. Thrice
D

Four times

Options:
449256651385 A
449256651386 B

44825665187, C



44325665188, D

Question Number : 67 Question Id : 44925616545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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According to Bugrat, how many times should Qai be induced in a month for Hifze Sehat?
A. Once

B Twice
C. Thrice
D

Four times

Options:

44925665185 A
44925665186. B
44925665187, C
44925865188, D

Question Number : 68 Question Id : 44925616546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which type of massage is done for hardening the organs?
A Dalak -e- Layyen

B Dalak -e- Sulb

C. Dalak -e- kaseer

D Dalak -e- Motadil



Options:

44925665159 A
44925665190 B
44925665191, C
44925665192, D

Question Number : 68 Question Id : 44925616546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which type of massage is done for hardening the organs?
A. Dalak -e- Layyen

B Dalak -e- Sulb

C. Dalak -e- kaseer

D Dalak -e- Motadil

Options:

44925665159, A
44925665190, B
44925665191, C
44925665192, D

Question Number : 69 Question Id : 44925616547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Which of the following Massage prepares the body for exercise?
A Dalak Isterdaad

B Dalak Istedad

C. Dalak Khashan

D Dalak Amlas

Options:
44925685193 4

443256651394 B
4439256651395, C
44525665156, D

Question Number : 69 Question Id : 44925616547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Which of the following Massage prepares the body for exercise?
A Dalak Isterdaad

B Dalak Istedad

C. Dalak Khashan

D Dalak Amlas

Options:
44925665193 A



443256651394 B
4459256651385, C
445325665156, D

Question Number : 70 Question Id : 44925616548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
f =S complication sl s Undescended testis
A. Sterility
B. Torsion of testis
C. Associated indirect inguinal hernia
D.

Testicular Atrophy

What is the most common complication of undescended testis”?
A. Sterility

B Torsion of testis

C.  Associated indirect inguinal hernia

D

Testicular Atrophy

Options:

44925665197 A
449256651958 B
44925665199, C
44925665200, D

Question Number : 70 Question Id : 44925616548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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D. Testicular Atrophy

What is the most common complication of undescended testis??
A Sterility

B Torsion of testis

C.  Associated indirect inguinal hernia

D

Testicular Atrophy

Options:
44925685197 4

443256651395, B
44925665199, C
445925665200, D

Question Number : 71 Question Id : 44925616549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Lumbar sympathectomy in Buerger's disease is usually done for. .
A. Rest pain

B Intermittent claudication
C.  Skin ulcer
D

Foot gangrene

Options:

44925665201, A
44925665202, B
44925665203, C
44925665204, D

Question Number : 71 Question Id : 44925616549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Lumbar sympathectomy in Buerger's disease is usually done for. .
A. Rest pain

B Intermittent claudication
C.  Skin ulcer
D

Foot gangrene

Options:

44925665201, A
44925665202, B
44925665203, C
44925665204, D

Question Number : 72 Question Id : 44925616550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Horse shoe kidney

B. Polycystic kidney

C. Renal Ectopia

D.  Duplication of pelvis

What is the common congenital renal anomaly?
A Horse shoe kidney

B Polycystic kidney

C. Renal Ectopia
D

Duplication of pelvis

Options:
44925685205 4

44325665206, B
44925665207, C
445925665208, D

Question Number : 72 Question Id : 44925616550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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B. Polycystic kidney
C. Renal Ectopia
D.  Duplication of pelvis

VWhat is the common congenital renal anomaly?
A. Horse shoe kidney

B Polycystic kidney

C. Renal Ectopia
D

Duplication of pelvis

Options:
44925665205, A



44325665206, B
445925665207, C
445925665208, D

Question Number : 73 Question Id : 44925616551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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What is the cause of Hirschsprung's disease?
A. Hypokalaemia

B Absence of ganglion cell in anorectum
C. Anal stenosis
D

lliocaecal hyperplastic tubereulosis

Options:

44925665209, A
44925665210 B
44925665211, C
44925665212, D

Question Number : 73 Question Id : 44925616551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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What is the cause of Hirschsprung's disease?
A. Hypokalaemia

B Absence of ganglion cell in anorectum
C. Anal stenosis
D

lliccaecal hyperplastic tubereulosis

Options:
44925685209 4

44325665210, B
44925665211, C
445925665212, D

Question Number : 74 Question Id : 44925616552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Erectile dysfunction
B. Retrograde ejaculation
C.  Prostatic haematuria
D

. Severe sepsis

What is the most common problem after prostatectomy?
A. Erectile dysfunction

B Retrograde ejaculation

C. Prostatic haematuria
D

Severe sepsis

Options:
44925665213 A



44325665214 B
445925665215, C
445925665216, D

Question Number : 74 Question Id : 44925616552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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A. Erectile dysfunction

B. Retrograde ejaculation

C.  Prostatic haematuria
D

. Severe sepsis

What is the most common problem after prostatectomy?
A. Erectile dysfunction

B Retrograde ejaculation

C. Prostatic haematuria
D

Severe sepsis

Options:

44925665213 A
44925665214 B
44925865215, C
44925665216, D

Question Number : 75 Question Id : 44925616553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Grey Turner's sign is seen in...

A Acute haemorrhagic pancreatitis
B Acute cholecystitis

C. Intestinal perforation
D

Pancreatic cyst

Options:
44925685217 4

44325665215 B
44925665219, C
445925665220, D

Question Number : 75 Question Id : 44925616553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Grey Turner's sign is seen in...

A Acute haemorrhagic pancreatitis
B Acute cholecystitis

C. Intestinal perforation
D

Pancreatic cyst

Options:
44925665217 A



44325665215 B
445925665219, C
445925665220, D

Question Number : 76 Question Id : 44925616554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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A. Sinus

B. Haemorrhoids
C. Rectal Prolapse
D.

Fissure

Exuberant granulation tissue is seen in...
A, Sinus

B Haemorrhoids

54 Rectal Prolapse
D

Fissure

Options:

44925665221 A
44925665222 B
44925865223, C
44925665224, D

Question Number : 76 Question Id : 44925616554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



¢ e e 08 Exuberant granulation tissue
A. Sinus

B. Haemorrhoids
C. Rectal Prolapse
D.

Fissure

Exuberant granulation tissue is seen in...
A Sinus

B Haemorrhoids

C. Rectal Prolapse
D

Fissure

Options:
449256865221 4

44325665222 B
44925665223, C
445925665224, D

Question Number : 77 Question Id : 44925616555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The commonest type of Hypospadias is..
A. Coronal

B Penile
C. Glandular
D

Penoscrotal

Options:
44925665225 A



44325665226, B
4825665227, C
445925665228, D

Question Number : 77 Question Id : 44925616555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The commonest type of Hypospadias is..
A. Coronal

B Penile
C. Glandular
D

Penoscrotal

Options:

44925665225 A
44925665226 B
44925865227 C
44925665228. D

Question Number : 78 Question Id : 44925616556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. Hernia

B. Hydrocele

C. Omphalocele

D. Haematocele

Red-glow translucency is seen in...
A Hernia

B Hydrocele

C. Omphalocele
D

Haematocele

Options:
44925685229 4

44325665230, B
44925665231, C
445825665232, D

Question Number : 78 Question Id : 44925616556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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. Hernia

B. Hydrocele

C. Omphalocele
D.

Haematocele

Red-glow translucency is seen in...
A Hernia

B Hydrocele

. Omphalocele
D

Haematocele

Options:
44925665229 A



44325665230, B
445925665231, C
445925665232, D

Question Number : 79 Question Id : 44925616557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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D. Osteoarthritis

Most common complication of intercondylar fracture of humerus is...
A Malunion

B Non-union

C. Stiffness of elbow

D Osteoarthritis

Options:

44925665233 A
44925665234 B
44925885235 C
449256652326, D

Question Number : 79 Question Id : 44925616557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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D. Osteoarthritis

Most common complication of intercondylar fracture of humerus is...
A Malunion

B Non-union

C. Stiffness of elbow

D Osteoarthritis

Options:

44925665233, A
44925665224 B
44925665235, C
44925665236, D

Question Number : 80 Question Id : 44925616558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Diameter of placenta at full term is:

A 10-15cm

B 13- 20cm

C. 20 - 25cm

D 25 - 30cm

Options:

44925665237, A



44325665235, B
445925665239, C
44525665240, D

Question Number : 80 Question Id : 44925616558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Diameter of placenta at full term is:

A 10-15cm

B 15 - 20cm

C. 20 - 25¢cm

D 25 - 30cm

Options:

44925665237, A
44325665238, B
44325665239, C
44825665240, D

Question Number : 81 Question Id : 44925616559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Postpartum Haemorrhage may cause:
A HELLP Syndrome

B Asherman Syndrome

C.  Sheehan Syndrome
D

Couvelair uterus

Options:

44925665241, A
44925665242, B
44925665243, C
44925665244 D

Question Number : 81 Question Id : 44925616559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Postpartum Haemorrhage may cause:
A. HELLP Syndrome

B Asherman Syndrome

C.  Sheehan Syndrome
D

Couvelair uterus

Options:
44925665241 A



44325665242 B
44925665243, C
445925665244, D

Question Number : 82 Question Id : 44925616560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

ol SR LS ey e G pa (S gl @ S

R pp) S S A
Jimas ) Sosley B
= Sat G

xe$ D

In case of Menorrhagia, cupping is done at...
A Lower back

B Below the breast

C. Below the umbilicus

D Nape of the neck

Options:

44925665245 A
44925665246 B
44925865247 C
44925665248, D

Question Number : 82 Question Id : 44925616560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In case of Menorrhagia, cupping is done at...
A Lower back

B Below the breast

C. Below the umbilicus

D Nape of the neck

Options:

44925665245 A
44925665246, B
44925665247 C
44925665248, D

Question Number : 83 Question Id : 44925616561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Commonly found in females with Phlegmatic temperament...
A. Dysmenorrhoea

B Menorrhogia

B Amenorrhoea
D

Leucorrhoea

Options:
44925665249 A



44325665250, B
445925665251, C
445925665252, D

Question Number : 83 Question Id : 44925616561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Commonly found in females with Phlegmatic temperament. ..
A. Dysmenorrhoea

B Menorrhogia

B Amenorrhoea
D

Leucorrhoea

Options:

44925665249 A
44925665250 B
44925885251, C
44925665252, D

Question Number : 84 Question Id : 44925616562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Jadwar and Ude Saleeb are commonly used for which ailment?
A Leucorrhoea

B Hysteria

C. Uterine Prolapse

D

Pruritus Vulva

Options:
44925685253 4

44325665254, B
44925665255, C
445925665256, D

Question Number : 84 Question Id : 44925616562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Jadwar and Ude Saleeb are commonly used for which ailment?
A Leucorrhoea

B Hysteria

C. Uterine Prolapse

D

Pruritus Vulva

Options:
44925665253 A



44325665254, B
44925665255, C
445925665256, D

Question Number : 85 Question Id : 44925616563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. 10 mm
B. 20mm
C. 30mm
D. 40mm

The length of the Bartholin's duct is approximately. ..

A. 10 mm

B 20mm

C. 30 mm

D 40 mm
Options:

44925665257, A
44325665258, B
44325665259, C
44825665260, D

Question Number : 85 Question Id : 44925616563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. 10 mm
B. 20mm
C. 30mm
D. 40mm

The length of the Bartholin's duct is approximately. ..

A. 10 mm

B. 20 mm

G 30 mm

D. 40 mm
Options:

44325665257, A
44325665258, B
443925665259, C
445825665260, D

Question Number : 86 Question Id : 44925616564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Upper Third Anterior wall
B. Upper Third Posterior wall
C. Middle Third
D. Lower Third

Commonest Site of Squamous Cell Carcinoma of Vagina is. ..
A. Upper Third Anterior wall

B Upper Third Posterior wall

C.  Middle Third

D Lower Third

Options:
44925665261 A



44325665262, B
44925665263, C
445925665264, D

Question Number : 86 Question Id : 44925616564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Commonest Site of Squamous Cell Carcinoma of Vagina is. ..
A. Upper Third Anterior wall

B Upper Third Posterior wall

C.  Middle Third

D Lower Third

Options:

44925665261 A
44925665262 B
44925885263, C
44925665264, D

Question Number : 87 Question Id : 44925616565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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B. Canine

C. Premolar

D. Molar

The first permanent tooth to erupt is. ..

A. Incisor

B Canine

. Premolar

D Molar
Options:

44325665265, A
44325665266, B
44925665267, C
445925665268, D

Question Number : 87 Question Id : 44925616565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The first permanent tooth to erupt is...

A Incisor

B Canine

G, Premolar

D Molar
Options:

44925665265, A



44325665266, B
A4925665267. C
445925665268, D

Question Number : 88 Question Id : 44925616566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. 6 months
B. 9 months
C. 01 year

D. 18 months

A child stands with support, speaks mama and has immature pincer grasp, what is the
approximate age?

A & months

B 9 months

C. 01year

D 18 months
Options:

44325665269, A
44325665270, B
44825665271, C
44325665272, D

Question Number : 88 Question Id : 44925616566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. 6 months
B. 9 months
C. 01 year

D. 18 months

A child stands with support, speaks mama and has immature pincer grasp, what is the
approximate age?

A, 6 months

B 9 months

C. 01year

D 18 months
Options:

443925665269, A
44325665270, B
445925665271, C
44325665272, D

Question Number : 89 Question Id : 44925616567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. Congenital hypothyroidism
B. Turner syndrome
C. Down syndrome
D. Measles

Scrotal tongue is a feature of ...
A Congenital hypothyroidism
B Turner syndrome

C. Down syndrome
D

Measles

Options:

44925665273 A
44925665274, B
44925665275, C
44925665276, D

Question Number : 89 Question Id : 44925616567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A. Congenital hypothyroidism
B. Turner syndrome

C. Down syndrome

D.

Measles

Scrotal tongue is a feature of ...
A. Congenital hypothyroidism
B Turner syndrome

C.  Down syndrome
D

Measles

Options:
44925665273 A



44325665274 B
44925665275, C
445925665276, D

Question Number : 90 Question Id : 44925616568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Dalak bawagt-e-khwab comes under which type of Dalak?
A. Dalak Layyan

B Dalak Isterdaad

C. Dalak Amlas

D Dalak Khashin

Options:

44925665277 A
44925665275 B
44925865279, C
44925665280, D

Question Number : 90 Question Id : 44925616568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Dalak bawagt-e-khwab comes under which type of Dalak?
A Dalak Layyan

B Dalak Isterdaad

C. Dalak Amlas

D Dalak Khashin

Options:

44925665277, A
44925665275, B
449256652793, C
44925665280, D

Question Number : 91 Question Id : 44925616569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Incidence rate is measured by:
A. Case control study

B Cohort Study

C.  Cross Sectional Study
D

Cross over Study

Options:
449256652581, A



44325665282, B
44925665283, C
445925665284, D

Question Number : 91 Question Id : 44925616569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Incidence rate is measured by:
A. Case control study

B Cohort Study

C.  Cross Sectional Study
D

Cross over Study

Options:

449256652581, A
44925665282 B
44925885283, C
44925665284, D

Question Number : 92 Question Id : 44925616570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Chronic Carrier state is seen in all except.
A Hepatitis-B

B Diphtheria
C. Typhoid
D Chicken Pox

Options:

44925665285 A
44925665286, B
44925665287 C
44925865288, D

Question Number : 92 Question Id : 44925616570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Chronic Carrier state is seen in all except.
A Hepatitis-B

B Diphtheria
C. Typhoid

D Chicken Pox

Options:



44325665285, A
44925665286, B
44925665287, C
44325665288, D

Question Number : 93 Question Id : 44925616571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. 1989
B. 1998
C. 1985
D. 1986

Hepatitis C Virus was identified in:

A 1989

B 1998

C. 1985

D 1986
Options:

44325665259, A
44325665230, B
44825665231, C
44325665292, D

Question Number : 93 Question Id : 44925616571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A. 1989
B. 1998
C. 1985
D. 1986

Hepatitis C Virus was identified in:

A. 1989

B 1998

C. 1985

D 1986
Options:

44325665289, A
44325665230, B
44925665291, C
445925665252, D

Question Number : 94 Question Id : 44925616572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Jules Guerin, a French Physician in 1848 introduced:
A. Public Health

B Community Medicine

C.  Social Medicine
D

Preventive Medicine

Options:
44925665292 A
44925665294 B

44325665235, C



44325665296, D

Question Number : 94 Question Id : 44925616572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Jules Guerin, a French Physician in 1848 infroduced:
A Public Health

B Community Medicine

C. Social Medicine
D

Preventive Medicine

Options:

44925665293 A
44925665294 B
443925665295, C
44925865296, D

Question Number : 95 Question Id : 44925616573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The first dose of pentavalent vaccine is given at:

A At Birth

B 6 weeks

B 9 weeks

D 14 weeks
Options:

44325665237, A
44325665295, B
44925665299, C
44525665200, D

Question Number : 95 Question Id : 44925616573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The first dose of pentavalent vaccine is given at:

A At Birth

B 6 weeks

. 9 weeks

D 14 weeks
Options:

44925665257, A



44325665295, B
445925665255, C
44525665200, D

Question Number : 96 Question Id : 44925616574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

¢:“:”&SL°ME¢”}];‘JF

lia S A4 A
des il B
L& C

4 ;.,.L ‘,,. D

Norplant is related to...

A. Water purification
B Contraception
G Vaccine
D

Sanitation

Options:

449256652301, A
44925665302 B
44925865203, C
44925665204, D

Question Number : 96 Question Id : 44925616574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Norplant is related to...

A. Water purification
B Contraception
C. Vaccine
D

Sanitation

Options:
44925685201, 4

443256652302 B
4439256652303, C
445925665204, D

Question Number : 97 Question Id : 44925616575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ligature mark of Hanging is a type of ...
A Linear abrasion
B Graze abrasion
C. Pressure abrasion
D

Impact abrasion

Options:
449256652305 A



443256652306, B
4459256652307, C
445325665208, D

Question Number : 97 Question Id : 44925616575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ligature mark of Hanging is a type of ...
A Linear abrasion
B Graze abrasion
C. Pressure abrasion
D

Impact abrasion

Options:

449256652305 A
44925665306, B
44925865207, C
44925665208. D

Question Number : 98 Question Id : 44925616576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Dry semen stains on clothes are identified by...
A. Spectroscopy

B Ultraviolet light

C. Infrared rays

D Magnifying Lens

Options:

44925665209, A
44925665210 B
44925665211, C
44925665212, D

Question Number : 98 Question Id : 44925616576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Dry semen stains on clothes are identified by...
A. Spectroscopy

B Ultraviolet light

C. Infrared rays

D Magnifying Lens

Options:

44925665209, A
44925665210 B
44925665211, C
44925665212, D

Question Number : 99 Question Id : 44925616577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Cheiloscopy is the study of prints of...

A. Mouth

B Eves

B Mose

D Lips
Options:

44325665313, A
44325665214 B
443925665215, C
44525665216, D

Question Number : 99 Question Id : 44925616577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Cheiloscopy is the study of prints of...

A. Mouth

B Evyes

C. Nose

D Lips
Options:

445925665313, A



44325665214 B
445925665315, C
445325665216, D

Question Number : 100 Question 1d : 44925616578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Black Tongue is seen in abuse of which drug?
A Heroine

B Dhatura
C. Smoking
D

Cocaine

Options:

44925665317 A
44925665218 B
449256865219, C
44925665220, D

Question Number : 100 Question Id : 44925616578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Black Tongue is seen in abuse of which drug?
A. Heroine

B Dhatura
C. Smoking
D

Cocaine

Options:
44925685217 4

44325665215 B
4439256652319, C
44525665320, D



